ApxaHrenbck (8182)63-90-72
AcTtaHa (7172)727-132
AcTpaxaHb (8512)99-46-04
BapHayn (3852)73-04-60
Benropog (4722)40-23-64
BpsiHck (4832)59-03-52
BnaguBocTok (423)249-28-31
Bonrorpap (844)278-03-48
Bonoraa (8172)26-41-59
BopoHex (473)204-51-73
EkaTepuHbypr (343)384-55-89

Mo Bonpocam npofax u nogaepxku obpallanTecs:

MBaHoBo (4932)77-34-06
WxeBck (3412)26-03-58
KazaHb (843)206-01-48
Kanununrpag (4012)72-03-81
Kanyra (4842)92-23-67
Kemepogo (3842)65-04-62
Kupos (8332)68-02-04
KpacHopap (861)203-40-90
KpacHosipck (391)204-63-61
Kypck (4712)77-13-04

Ivneuk (4742)52-20-81

Marnutoropck (3519)55-03-13
Mocksa (495)268-04-70
MypmaHck (8152)59-64-93

HabepexHble YenHbl (8552)20-53-41

HwxHuii Hosropop (831)429-08-12
HoBoky3HeLk (3843)20-46-81
HoBocubupck (383)227-86-73
Omck (3812)21-46-40

Open (4862)44-53-42

OpeHb6ypr (3532)37-68-04

MNeH3a (8412)22-31-16

Mepmb (342)205-81-47
PoctoB-Ha-[JoHy (863)308-18-15
PssaHb (4912)46-61-64

Camapa (846)206-03-16
CaHkT-MeTepbypr (812)309-46-40
CapatosB (845)249-38-78
CesacTonons (8692)22-31-93
Cumdpeponons (3652)67-13-56
CmoneHck (4812)29-41-54

Coun (862)225-72-31
Craspornonb (8652)20-65-13

EnunHbin agpec: ccn@nt-rt.ru | http://www.conec.nt-rt.ru

Section 7
HiGH TEMPERATURE CONNECTORS

Il

CypryT (3462)77-98-35
Teepb (4822)63-31-35
Tomck (3822)98-41-53
Tyna (4872)74-02-29
TiomeHb (3452)66-21-18
YnbsiHoBCK (8422)24-23-59
Ydpa (347)229-48-12
Xabaposck (4212)92-98-04
YensbuHck (351)202-03-61
Yepenosel, (8202)49-02-64
Apocnasnb (4852)69-52-93




CONEC® 201



SAL M12x1 HiGH TEMPERATURE CONNECTORS OVERMOULDED

Nomenclature

SIARLY-JHITL- 1020 1 JRIKIWI4]-J31/JSh 1!

=

202 SONEC®



SAL M12x1 HiGH TEMPERATURE CONNECTORS OVERMOULDED
Product specification

Technical subject to change without notice.

CONEC® 203



SAL M12x1 HiGH TEMPERATURE SOCKETS
Nomenclature

=

204 CONEC®



SAL M12x1 HiGH TEMPERATURE SOCKETS
Product specification

Technical subject to change without notice.

CONEC® 205



~
T £
g =
g S = = s
S « © "' B
S S £ s 3
S = IS
S > = B 2 9
|2 £ T g & ©
: S 8 8§ 5 8 ¢
TPE, black, Li12Y33X Contact assignment = S & O O = Description Part No.
2 SAL-HT-12-RK4-2/ST ~ 43-10480
3 SAL-HT-12-RK4-3/ST ~ 43-10481
Pin 1 M
Pin 2
o1 oin 3 4 A 25 4 034
Pin 4 N
5 SAL-HT-12-RK4-5/51 43-10482
T % 10 SAL-HT-12-RK4-10/S1  43-10483
@
- 2 SAL-HT-12-RK5-2 /51 43-10484
B
D
P— 3 SAL-HT-12-RK5-3 /51 43-10485
Pin2[]
Pin 3 N 5 A 60 4 034
Pin 4 N
Pin5 M
I 5 SAL-HT-12-RK5-5/S1  43-10486
10 SAL-HT-12-RK5-10/S1  43-10487
TPE, black, Li12Y33X
5 g]AL—HT—]Z-RKW4-2/ 43-10496
3 2]AL—HT—12-RKW4—3/ 4310497
Pin 1
Pin2 [
27 fi— 4 A 250 4 0,34
Pin 4
5 2]AL—HT—12-RIGN4-5/ 43-10498
X 10 SAL-HT-12-RKW4-10/ 4310499
- S1
) il SAL-HT-12-RKW5-2
2 B 2/ 4310500
D S1
SAL-HT-12-RKW5-3 /
pin 1 3 ST 43-10501
Pin 2]
Pin 3 N 5 A 60 4 034
Pin 4 N
em . '
Pin 5 5 g]AL HT-12-RKW5-5/ 4310502
10 g;:\L—HT—]Z-RKWS-]O/ 43-10503

206 CONEC® Technical information starting on page 348



=
= £
g £
g S X < 5
S v = ' J
SN S £ £ 9
s & § & 2
S = IS
S > = B 2 Q
< S s X °
. K H E
TPE, black, Li12Y33X Contact assignment = S & O O = Description Part No.
2 SAL-HT-12-RS4-2/S1  43-10488
3 SAL-HT-12-RS4-3/S1  43-10489
Pin 1
i 4 A 250 4 034
o14 Pin 4 W
5 SAL-HT-12-RS4-5/51  43-10490
10 SAL-HT-12-RS4-10/51  43-10491
N
2 SAL-HT-12-RS5-2/S1  43-10492
~ )
211 3 SALHT-12-RS5-3/S1  43-10493
Pin 1
D Pin 20
Pin 3 I 5 A 60 4 034
Pin 4 N
Pin5 M
5 SAL-HT-12-RS5-5/51  43-10494
10 SAL-HT-12-RS5-10/51  43-10495
TPE, black, Li12Y33X
SAL-HT-12-RSW4-2 /
2 AT 43-14783
SAL-HT-12-RSW4-3 /
3 43-14784
Pin 1w S1/A1090
Pin 2
- pin s 4 A 250 4 0,34
Fin« - ; SALHT1ZRSWAS/ 00 oo
S1/A1090
] 10 2?5:135:5""4'10/ 43-14786
s
- B11
SAL-HT-12-RSW5-2/
2 iy 43-14787
SAL-HT-12-RSW5-3 /
bin 1 mm 3 $1/A1090 43-14788
Pin 2]
Pin 3 5 A 60 4 034
Pin 4 N
Pin 5 M SAL-HT-12-RSW5-5/
5 O 43-14789
SAL-HT-12-RSW5-10/
10 S 43-14790

Technical information starting on page 348 CONEC® 207



=
= £
g =
g S T < 5
S v = "' J
N S = s 4
S SRS 2
< S s X °
: S S 55 §¢
TPE, black, Li12Y33X Contact assignment = S & O O = Description Part No.
SAL-HT-12-RK4-
03 RS4-0,3/51 43-10900
SAL-HT-12-RK4-
06 43-10901
Pin 1 W RS4-0,6/51
Pin2 [
S 4 A 250 4 0,34
Pin 4 N
SAL-HT-12-RK4-
15 RS4-1,5/5] 43-10902
SAL-HT-12-RK4-
3 Sy 43-10903
D
- SAL-HT-12-RK5-
th 03 RS5.0,3/51 43-10904
OB SAL-HT-12-RK5-
2 S 0,6 RS5.0,6/51 43-10905
Pin 2]
Pin 3 5 A 60 4 034
} Pin 4 HE
Pin 5 M SAL-HT-12-RK5-
I M12x1 15 RS5-15/51 43-10906
o014
SAL-HT-12-RK5-
3 Ry 43-10907
TPE, black, Li12Y33X
SAL-HT-12-RKW4-
03 RS4-03/51 43-10908
SAL-HT-12-RKW4-
0,6 43-10909
- RS4-0,6/S1
Pin 2]
Pin s 4 A 250 4 034
Fin « - s SALHTI2RKWA- oo
' RS4-1,5/51
SAL-HT-12-RKW4-
3 ] 43-10911
D
- SAL-HT-12-RKWS5-
ﬁj\ e RS5-03/51 43-10912
) § SAL-HT-12-RKW5
Pin 1 06 RS5-0,6/51 4310913
i Pin2[1
: Pin 3 N 5 A 60 4 0,34
M12x1 Pin 4 HE
o1z Pin 5 M SAL-HT-12-RKW5-
15 RS5-1,5/51 43-10914
SAL-HT-12-RKW5-
3 ST 43-10915

208 CONEC® Technical information starting on page 348



—
)
=
~ Tz
0 = I S I
S () > - s} I
e E’ S 8 % =
S 2 5 8 u»
P S 5 & g8 o
ES &5 8 o8
Female connector, M16x1.5 thread Contactassignment = S & S = X = Description Part No.
Pin 1 EE")
e = 4 A 250 4 T 24 05 SALHTI2FK405  43-01022
in 3 S
Width across flats 17 _“'“V'L Pin 4 HE S
C 2 & Pin 1 Il 5
Pin 3 5 A 60 4 5 24 05 SALHT-12-FK5-0,5 43-01023
Pin 4 W 53
Pin 5 M ©
Pin 1 Il &5
Pin2[J ;
Mot 5 Pin 3 5 A 60 4 5 24 05 SALHT12-FK5.1-05  43-01046
Pin 4 W &
Pin 5 ©
Female connector, PG9 thread
Pin 1 W EE3
M12x1 Pin2[] >
—-] . 4 A 250 4 & 24 05 SALHT-12-FK4-0,5-9 43-01076
Width across flats 17 P!n 3. §-
Pin 4 N &)
Sealmg/"ﬁ ) g:: ; ; aE3
E Pin 3 I 5 A 60 4 %‘ 24 0,5 SALHT-12-FK5-0,5-9 43-01078
Pin 4 W &
Pin 5 M O
Pin 1 T
Pin2[J g
PGY Pin 3 N 5 A 60 4 T 24 05 SALHT-12-FK5.1-0,5-9 43-01077
3 Qo
Pin 4 N )
Pin 5 I o
Female connector, M16x1.5 thread, positioning possible
Pin 1 W aEs
ELLESE o - 4 A 250 4 5 24 05 SALHT-12-FKP4-05  43-01038
in 3 Il (<%
Width across HIHW Pin 4 8
flats 17 N
' 5 Pin 1 5
T:ﬁ “’I Pin 2 [ E
Pin 3 N 5 A 60 4 5 24 05 SALHT-12-FKP5-0,5 43-01039
Sealing [ Pin 4 N 8-
Pin 5 M o
B Pin 1 D
Pin2[J g
MH6x1.5 Pin 3 5 A 60 4 5 24 05 SALHT12-FKP5.1-0,5 = 43-01127
i ; o
Pin 4 N <)
Pin 5 I &)
Female connector, PG9 thread, positioning possible
Pin 1 z
Pin2[J =
_W2d Pi 4 A 250 4 S 24 05 SALHT-12-FKP4-0,5-9 = 43-01112
in3 (<%
= i Q
Width across ki Pin 4 . O
flats 17 §
< Pin 1 )
b Pin 2 E
Sealing ‘ © Pin 3 W 5 A 60 4 5 24 05 SALHT-12-FKP5-0,59 = 43-01113
T Pin 4 Sl
Pin 5 M o
- Pin 1 Il S
Pin2[J ;
Pin 3 I 5 A 60 4 5 24 05 SALHT-12-FKP5.1-0,5-9 43-01135
PGY Pin 4 &
Pin 5 O

Technical information starting on page 348 CONEC® 209



—_
S
=
SE
—_
© S < s =
S Q > — O M
A g‘ S € % =
S .8 S5 8@
8§ 25 5§ § S5 S8
tsBlecse
Female connector, Square flange 20x20 Contact assignment = S & G = = = Description Part No.
M12x1
=1 e g SAL-HT-12-FV04
Pin 2] = HT-12-FVO4-
o e 4 i— 4 A B0 4 g 2405 o0 4302324
by Pin 4 8
[T
o sealing
Pin 1 Il &5
Pin2[J =
Pin 3 5 A 60 4 = 24 05 JALHTIZFVOS 43-02325
Sr2e0n Pin 4 = 0,520
Pin5M ©
@13,2130%

210 CONEC® Technical information starting on page 348




—
€
=
~ Tz
g = 53
S ) = S
e E’ S 8 % =
S S & £ 3 5
S »m > = & 88§
S &8s § § & =X
§3s & s & g ¢8
Male connector, M16x1.5 thread Contact assignment = S & G = = = Description Part No.
Pin 1 g
M1zt i 4 A 250 4 3 24 05 SALHT12-FS4-05 43-01024
in3 <8
< Pin 4 N S
Width across J\Q‘H . I ©
flats 17 =
Ao 1§ Pin 1 5
in Pin2[J =
s Q/JH T Pin 3 5 A 60 4 = 24 05 SALHTI2FS505 4301025
Pin 4 W &
1 Pin 5 M O
o I
I
i Pin 1 o
H Pin2[J g
Woxt.5 Pin 3 5 A 60 4 < 24 05 SALHT12-FS51-05  43-01050
Pin 4 W &
Pin 5 ©
Male connector, PG9 thread
Pin 1 EE3
el i 4 A 250 4 § 24 05 SALHTI2FS4059  43-01085
Qo
@ Pin 4 ]
Width across
flats 17 L e
i N Pin 1 5
sea‘mg/(ﬁ‘ ﬁ Pin 2] ;
Pin 3 HE 5 A 60 4 5 24 05 SAL-HT-12-FS5-0,5-9 43-01087
Pin 4 W 53
Pin 5 M S
Pin 1 5
Pin 2] E
bGo Pin 3 W 5 A 60 4 5 24 05 SALHT-12-FS5.1-05-9 43-01086
Pin 4 S
Pin 5 S
Male connector, M16x1.5 thread, positioning possible
Pin 1 EE'»
wr2x1 i 4 A 250 4 & 24 05 SALHTI2FSP405  43-01040
Q.
Pin 4 8
;Il\elx‘tds‘? 7across \I\:“ngq 0
= Pin 1 =
CrNTIT) 1 g Pin 2 ] g
Sealin ©1 Pin 3 5 A 60 4 5 24 05 SALHT-12-FSP5-0,5 43-01041
. Q\W Pin 4 S
‘ ‘ Pin 5 M O
- | Pin 1 5
v Pin 2] ;
' Pin 3 I 5 A 60 4 & 24 05 SALHT-12-FSP5.1-05  43-01128
M16x1,5 Pin 4 o
- e (=]
Pin 5 O
Male connector, PG9 thread, positioning possible
Pin 1 z
M12x1 Pin20 =
Pin 3 W 4 A 250 4 G 24 05 SAL-HT-12-FSP4-05-9  43-01114
Qo
Width across ﬂfl\g‘[q Pin 4 8
flats 17 )
TT) vy Pin 1 W 5
Pin 2] £
Sealing Pin 3 I 5 A 60 4 5 24 05 SALHT-12-FSP5-059  43-01115
i T Pin 4 I 55
Pin5 M O
- u U U Pin 1 5
U Pin2[] g
PGo Pin 3 N 5 A 60 4 T 24 05 SALHT-12-FSP5.1-05-9 43-01136
Pin 4 W 53
Pin 5 I S

Technical information starting on page 348 CONEC® 21



—
€
=
SE
—
8 S < s =
S &3 5L
s S 5 8 2%
5 o & = S8 8 s
S @8 % § § o =2
S5 8 s e
Male connector, Square flange 20x20 Contact assignment = S & G = = = Description Part No.
M12x1
a Pin 1 3 S .
Pin2[] = AL-HT-12-FSVO4-
o ® Pin 3 4 A 250 4 S 24 0,5 0520 43-02326
< "
- ‘ ,QJ\N Pin 4 8
Sealing
-
Pin 1 W T
Pin 21 = HT-12- N
Pin 3 5 A 60 4 = 24 05 JALHTIZFVOS 43-02327
Pin 4 N 2 0,5-20
@Bl12+o1 Pin5 M =
$13,215%

Male connector, M16x1.5 thread

M12x1

Width across 4 A 250 4 SAL-HT-FS4-L 43-02357
flats 17 \ —

13

20

TS
Sealing /ﬁﬁ

°
26

5 A 60 4 SAL-HT-FS5.1-L 43-02358

212 CONEC® Technical information starting on page 348




—
€
=
> E
—
© = < s =
S ) > — O I
S S £ 8 g [
5 £ 8 83§
S S S © § =
S 25 £ E § S
E S & £ 2o
Male connector, M16x1.5 thread Contact assignment = S & O = = = Description Part No.
Pin 1 mm 3
Wizx1 Pin 20 4 A 250 4 s 05 JALHTI2: 43-01121
2 Pin 3 W S "~ FKH4-0,5
— Pin 4 W 8
Wdthacrossfatsw\;: @
Aﬁ“%ﬁA g Pin | 5
Sealng—___ TTT T T P!n2I:I _§~ SALHT.12-
[ [ 1T Pin 3 - 5 A 60 4 5 2405 e 43-01122
Pin 4 N o '
Pin 5 M O
=
in =S SAL-HT-12-
WHext 5 E::i: 5 A 60 4 §_ 24 0,5 FKH5.1-0,5 43-01129
Pin 5 mm O
Female connector, PG9 thread
- g SAL-HT-12
Pin2[J = “HT-12-
M2t — 4 A 250 4 g 2405 0o, 4301119
— Pin 4 3
Width across ﬁ
flats 19 o o
Sealing ] ] ks P!n 1. 5
NG EE Pin 2 = SAL-HT-12-
Pin 3 I 5 A 60 4 S 24 05 43-01120
[ ; I FKH5-0,5-9
H Pin 4 S5 “Yio-
! Pin 5 M O
i I
=
n > SAL-HT-12-
ig— = }
et S 5 A 60 4 g 24105 2ic 059 4301137
Pin 5 O
Male connector, M16x1.5 thread
Pin 1 M 3
Pin 2] =
- i 4 A 250 4 g 24 05 SALHTI2FSH40S5 4301131
Pin 4 W 8
Width across flats 19 i :
ol w Pin 1 5
Tz Pin 21 E
| Pin 3 N 5 A 60 4 & 24 05 SALHT-12-FSH5-0,5 43-01132
Sealing — LT TT [0 Pin 4 HI =
11 T 11 Pin 5 B o
o Pil’l 1. S
P!nZI:I g
Pin 3 5 A 60 4 & 24 05 SALHT-12-FSH5.1-0,5 43-01130
M16x1.5 Pin 4 W 5
Pin 5 W O
Male connector, PG9 thread
Pin 1 =
M2t i 4 A 250 4 3 24 05 SALHT12-FSH4-0,5-9 ~ 43-01133
in3 o
Pin 4 W 8
Width across flats 19 i
ﬁ = Pin 1 5
Sealing—___T1 | ]| P!n 2 g‘
Pin 3 N 5 A 60 4 & 24 05 SALHT-12-FSH5-0,5-9 43-01134
L]l [T Pin 4 =
Pin 5 M ©
P!n 1. 3
P!nZI:I _;
PG Pin 3 5 A 60 4 5 24 05 SALHT-12-FSH5.1-0,5-9 43-01138
Pin 4 5y
Pin 5 mm O

=,e
Technical information starting on page 348 CONES® 213



T
-
g = <%
g & £ =
S £ T S
5 o S = B
fT £ 3 § B
= = = =
Male connector, M16x1,5 thread, installation height 5.5 mm = § & &8 & Description Part No.
M12x1
Xi‘.i‘?:°’°”\ 4 A 250 4 55 i@LéHT']Z'FSH“' 4302316
Sealing F(LQ% I
N 0
3 [ 'I”[f |
@08 ‘
_EZ
Y 5 A 60 4 55 ?,@:HT']Z'FSHS']’ 43-02317
M16x1,5 !
Male connector, M16x1,5 thread, installation height 12 mm
M12x1
;II\I\dlh across —\
ats 19 ~ ~19. -
LEL% 4 A 250 4 12 IS)?;HTQ FsHa 43-02320
Sealing Y
i,
. 5 I]Il[f |
0.8 ‘
92
D1
M16x1 5 5 A 60 4 12 ?,ﬁ\ZL'H”Z'FSHS']' 43-02321
Male connector, PG9 thread, installation height 5.5 mm
M12x1
x\;gﬂ:;icm%\
I\:&Q% 4 A 250 4 55 f,AL‘HT‘]Z'FSH“‘ 43-02318
Sealing ol w 5,5-9
]
. H_l*”[f =1
1]
4")]_
ol
D2
o SAL-HT-12-FH5.1-
PG 5 A 60 4 55 [, 43-02319

ApxaHrenbck (8182)63-90-72
AcrtaHa (7172)727-132
AcTpaxaHb (8512)99-46-04
BapHayn (3852)73-04-60
Benropog (4722)40-23-64
BpsiHck (4832)59-03-52
BnagusocTok (423)249-28-31
Bonrorpag (844)278-03-48
Bonoraa (8172)26-41-59
BopoHex (473)204-51-73
EkatepuHbypr (343)384-55-89

Mo Bonpocam npoaax v NoAAEepKKn obpallanTech:

MBaHoBo (4932)77-34-06
MxeBck (3412)26-03-58
KasaHb (843)206-01-48
KanuHuHrpag (4012)72-03-81
Kanyra (4842)92-23-67
KemepoBo (3842)65-04-62
Kupos (8332)68-02-04
KpacHopgap (861)203-40-90
KpacHosipck (391)204-63-61
Kypck (4712)77-13-04

Tvneuk (4742)52-20-81

MarnuToropck (3519)55-03-13
Mocksa (495)268-04-70
MypmaHck (8152)59-64-93

Hab6epexHble YenHbl (8552)20-53-41

HwxHuia Hoeropop, (831)429-08-12
HoBoky3HeLk (3843)20-46-81
HoBocwubupck (383)227-86-73
Owmck (3812)21-46-40

Open (4862)44-53-42

OpeH6ypr (3532)37-68-04

MeHsa (8412)22-31-16

Mepwmb (342)205-81-47
PocToB-Ha-[JoHy (863)308-18-15
PsizaHb (4912)46-61-64

Cawmapa (846)206-03-16
CaHkT-NeTepbypr (812)309-46-40
CapatosB (845)249-38-78
CeBacronorb (8692)22-31-93
Cumdpeponons (3652)67-13-56
CmoneHck (4812)29-41-54

Coum (862)225-72-31
Craspononb (8652)20-65-13

EouHbin agpec: ccn@nt-rt.ru | http://www.conec.nt-rt.ru

CypryT (3462)77-98-35
Teepb (4822)63-31-35
Tomck (3822)98-41-53
Tyna (4872)74-02-29
TiomeHb (3452)66-21-18
YnbsiHoBCK (8422)24-23-59
Ydpa (347)229-48-12
XabapoBck (4212)92-98-04
YensbuHck (351)202-03-61
Yepenogel (8202)49-02-64
Apocnasnb (4852)69-52-93





